



$$X^0 = (m^0, n^0, \mu^0), \quad (15)$$

{X} ,

$$X = \langle m, n, \mu \rangle \quad (3)$$

$$cs(X^0) = cs(m^0, n^0, \mu^0) = \min_{\{X\}} cs(X). \quad (16)$$

(6) (4):

$$cs(X) = cs(m, n, \mu) \leq cs \quad , \quad (4) \quad \Psi(X, \omega) = s(m, n, \mu) + \omega \cdot \{qs \quad - qs(m, n, \mu, \lambda)\}. \quad (17)$$

« »

(17),

$$X^0 = \langle m^0, n^0, \mu^0 \rangle, \quad (5)$$

$$\frac{\partial \Psi}{\partial m} = \frac{\partial cs}{\partial m} - \omega \frac{\partial qs}{\partial m} = 0 \quad (18)$$

$$\frac{\partial \Psi}{\partial n} = \frac{\partial cs}{\partial n} - \omega \frac{\partial qs}{\partial n} = 0 \quad (19)$$

$$\frac{\partial \Psi}{\partial \mu} = \frac{\partial cs}{\partial \mu} - \omega \frac{\partial qs}{\partial \mu} = 0 \quad (20)$$

$$qs(X^0, \lambda) = \max_{\{X\}} qs(m, n, \mu, \lambda) = qs(m^0, n^0, \mu^0, \lambda). \quad (6)$$

(1), (2) ,

» ( ).

- ( ).

(3.36) - (4):

$$\Phi(X, \alpha) = qs(\lambda, m, n, \mu) + \alpha \{cs \quad - s(m, n, \mu)\} \quad (7)$$

« »

(7),

$$\frac{\partial \Phi}{\partial m} = \frac{\partial qs}{\partial m} - \alpha \frac{\partial cs}{\partial m} = 0 \quad (8)$$

$$\frac{\partial \Phi}{\partial n} = \frac{\partial qs}{\partial n} - \alpha \frac{\partial cs}{\partial n} = 0 \quad (9)$$

$$\frac{\partial \Phi}{\partial \mu} = \frac{\partial qs}{\partial \mu} - \alpha \frac{\partial cs}{\partial \mu} = 0 \quad (10)$$

$$\frac{\partial \Phi}{\partial \alpha} = cs \quad - cs(m, n, \mu) = 0. \quad (11)$$

$$qs( \quad , m, n, \mu) \quad cs(m, n, \mu)$$

$$\{m^0, n^0, \mu^0, \alpha^0\}. \quad (12)$$

{X} <sup>î á</sup>,

$$X = (m, n, \mu) \quad (13)$$

$$qs(X) = qs(m, n, \mu, \lambda) \geq qs \quad , \quad (14)$$

$$\frac{\partial \Psi}{\partial \omega} = qs \quad - qs(m, n, \mu, \lambda) = 0. \quad (21)$$

$$qs(\mu, m, n, ) \quad cs(m, n, \mu)$$

$$\{m^0, n^0, \mu^0, \omega^0\}. \quad (22)$$

$$ES = q(X, \lambda) / cs(X). \quad (23)$$

$$ES = \max_{\{X\}} qs(X^0, \lambda) / cs \quad = \max_{\{X\}} ES, \quad (24)$$

$$ES = qs \quad / \min_{\{X\}} cs(X^0) = \max_{\{X\}} ES. \quad (25)$$

$$cs(m, n, \mu).$$

$$0.95\mu .$$

$$\mu(x) = \mu \cdot (1 - \exp(-\beta x)), \quad 0 \leq x \leq x , \quad (26)$$

$\beta$  - ,

$\beta$

$$\mu(x = x) = \mu \cdot \{1 - \exp(-\beta x)\} \approx \mu \cdot \{1 - \exp(-3)\}. \quad (27)$$

$$\beta x = 3; \beta = 3 / x. \quad (28)$$

$$\begin{aligned} \mu / \mu &= (1 - \exp(-\beta x)); \\ \exp(-\beta x) &= 1 - \mu / \mu; \\ -\beta x &= \ln(1 - \mu / \mu). \end{aligned} \quad (29)$$

$$c(\mu) = x = (-1 / \beta) \cdot \ln(1 - \mu / \mu). \quad (30)$$

$$c(m, \mu) = m \cdot c(\mu) = m \cdot (-x / 3) \cdot \ln(1 - \mu / \mu). \quad (31)$$

$$y = \xi \cdot x, \quad 0 < \xi < 1. \quad (32)$$

$$c(n) = n \cdot y = n \cdot \xi \cdot x. \quad (33)$$

$$\begin{aligned} cs(m, n, \mu) &= c(m, \mu) + c(n) = \\ &= m \cdot (-x^{\hat{0}} / 3) \cdot \ln(1 - \mu / \mu^{\hat{0}}) + \\ &+ \xi \cdot n \cdot (-x^{\hat{0}} / 3) \cdot \ln(1 - \mu / \mu^{\hat{0}}) = \\ &= (m + \xi \cdot n) \cdot (-x^{\hat{0}} / 3) \cdot \ln(1 - \mu / \mu^{\hat{0}}). \end{aligned} \quad (34)$$

$$qs = 1 - p_{m+n}, \quad (35)$$

$$P_{m+n} = \left( \frac{\lambda^{m+n}}{m!n!\mu^{m+n}} \right) / \left( 1 + \sum_{i=1}^m \frac{\lambda^i}{i!\mu^i} + \sum_{j=1}^n \frac{\lambda^{m+j}}{m!m^j\mu^{m+j}} \right), \quad (36)$$

$$A = \lambda \cdot qs; \quad (37)$$

$$M[m] = A / \mu; \quad (38)$$

$$M[r] = \sum_{j=1}^n j \cdot p_{m+j}, \quad (39)$$

$$P_{m+j} = \frac{\lambda^{m+j}}{m!n^j\mu^{m+j}} \cdot P_0 = \left( \frac{\lambda^{m+j}}{m!m^j\mu^{m+j}} \right) / \left( 1 + \sum_{i=1}^m \frac{\lambda^i}{i!\mu^i} + \sum_{j=1}^n \frac{\lambda^{m+j}}{m!m^j\mu^{m+j}} \right). \quad (40)$$

$$q(\lambda, m, n, \mu), \quad (28 - 31).$$

$$(36), (37)$$

$$(m!)$$

$$\begin{aligned} \frac{d(m!)}{dm} &\approx \frac{\Delta(m!)}{\Delta m} = \frac{(m+1)! - m!}{(m+1) - m} = \\ &= \frac{m!(m+1) - m!}{1} = m!m. \end{aligned} \quad (41)$$

$$(40) - S0,$$

$$- S1$$

$$\frac{\partial S1}{\partial m}, \frac{\partial S1}{\partial n}, \frac{\partial S1}{\partial \mu}, \frac{\partial S2}{\partial m}, \frac{\partial S2}{\partial n}, \frac{\partial S2}{\partial \mu}, \frac{\partial S0}{\partial m}, \frac{\partial S0}{\partial n}, \frac{\partial S0}{\partial \mu}. \quad (42)$$

$$(40).$$

$$SZ$$

$$q(m, n, \mu, ):$$

$$\frac{\partial q}{\partial m} = -\frac{1}{SZ^2} \left( \frac{\partial S0}{\partial m} SZ - S0 \frac{\partial SZ}{\partial m} \right), \quad (43)$$

$$\frac{\partial q}{\partial n} = -\frac{1}{SZ^2} \left( \frac{\partial S0}{\partial n} SZ - S0 \frac{\partial SZ}{\partial n} \right), \quad (44)$$

$$\frac{\partial q}{\partial \mu} = -\frac{1}{SZ^2} \left( \frac{\partial S0}{\partial \mu} SZ - S0 \frac{\partial SZ}{\partial \mu} \right). \quad (45)$$

(38)-(41)

1. . . . .  
2004. – 470 .
2. " " 1989 . – 432 .

24.04.2014

: - . . . . .

« »

**AIR TRANSPORT SYSTEM AS A SET OF "QUEUEING"  
IN THE FIELD OF INFORMATION SECURITY**

A.V. Mishchenko

*The mathematical model of queuing system in the field of information security of the national air transport industry. Also developed the basic parameters of a queuing system to evaluate the effectiveness of air transport infrastructure.*

**Keywords:** *national security, information security, air traffic center, aviainfrastruktura, target efficiency, interpolation, analytical method, queuing system.*